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Section A: 10 marks (2 marks each)
Choose the cotrect answer and write its number in the brackets

provided.

Study the picture below and answer-Question 1

G__ ¥ stands for 1 unit.

1) The total length of the pen and the pencil is units.
1} 5
2) .2
3) 3
4) 8 ( )
1 pd
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2) Which alien is the shortest?
1) A
2) B

3) C
4) D

3) Which one of the clocks below shows haif past six?

1)




Study the picture below and answer Question 4.

B stands for 1 nit.

4) What is the'mass of the robot?

1) 10
2} 9
3) 8
4) 7 o (

5) Which clock shows the corréct time?

Clock A "~ Clock B Clock C Clock D

half past 8 5 o'clock haif past 9 12 o'clock
1) Clock A
2) Clock B
3) Clock C
4) Clock D {




Section B: 24 marks (2 marks each)

Work out the following sums. Show all your workings and write the
answers in the spaces provided.

)
1 unit

6) Fish D is about units long.

7) The total length of Fishes A, B and C is about

units long.




Look at the diagram below and answer Question 8.

‘bananas

Fiil in the blank with heavier than, lighter than or as heavy as

8) The packet of instant noodles is |,
the bunch of ‘bananas.

9) Sitinah is going to the market. She leaves her house at
half past 7. She takes 1 hour to reach the market.

Circle the clock which shows the time Sitinah reaches the market.

3t



The table below shows the animal feeding times at a zob.
Use it to answer Questions. 10 and 11.

Afternoon feeding times Animal Exhibits
Feeding sessions are held daily)

Mrs Lim and her son, Tom, reached the zoo at 12 o’clock.
Tom wanted to watch the zookeepers feed the animals.

10) Tom watched the feeding of at
1 o’clock.

11) Tom and his mother left the zoo at 4 o’clock.
Which animal feeding would they miss?

Ans:




Study the pictures below and answer Questions 12 and 13.

apple

papaya

Each @ stands for 1 unit.

12) What is the mass of the apple?

Ans: units

13) What is the total mass of the apple and papaya?

Ans: units

1



14)

15)

16)

17)

*
x

The graph below shows the number of animals in a pet shop.
Study it carefully and answer Questions 14 to 17.

Y . T

*
*
*

%

%
 Cafa it

VLA

Dog

[

Cat | Hamster | Terrapin | Bird
Each * stands for 1 animal.
There is an equal number of and

There are

There are

altogether.

If ali the hamsters are sold, there will be

animals left.

more dogs than rabbits.

animais in the pet shop




Section C : 16 marks (4 marks each) '
Do the. followmq sums. Shew your workmqs and statements
clearly. ’ .

18)

Each O stands for 1 unit.

Box A has a mass of 12 units.
Box B is 2 units lighter than Box A.

{a) What is the mass of Box B?

The mass of Box B is units.

(b) What is the total mass of Box A and Box B?

The total mass of Box A and Box B is units.




19)

bananas

A

(a) What is the total mass of the pear and the bunch of grapes?

Each & stands for 1 unit.

The total mass of the pear and the bunch of grapes is
units.

(b} How much heavier is the bunch of bananas than the pear?

The bunch of bananas is units. heavier than the
pear.

10




20)

PencirA

oW G Ry g o g g ey
. 12

— stands for 1 unit.
Pencil Ais 4 units long. _ o
Pencil B is 3 units longer than Pencil A.

(a) How long is Pencil B?

Pencil Bis units long.

- (b)Pencil Cis as Iong as Pencil B.

What is the total length of Pencil B and Pencil C?

The total length of Pencit B and Pencil C is

units.

1
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21)

| ‘toothbrush

The total length of a toothbrush and a comb is 30 umz.-,-
The length of the toothbrush is 18 [m=.

(a) Find the length of the comb.

The length of the comb is =

(b) How much shorter is the comb than the toothbrush?

The comb is === shorter than the toothbrush.

-— End of paper ---

: Have you checked
Q.  Yyourwork?
o .-,
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